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Abayay said; he may place it near since it is not designated for pits

Overview

»IX maintains (in opposition to X27) that one may dig his pit adjacent to his
boundary line if the other field is not designated for digging pits. md0n discusses
this ruling.
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And since this is so (that the adjacent field is not mM2a% 7 wy), he is not damaging
his neighbor, if he is 91219, since the neighbor will not be digging any pits in his domain —

nvoIn asks:
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And the X'"2w9 has a difficulty; but his neighbor is losing, by his placing his M2

adjacent to the property line -
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For if his neighbor will want to plant a tree, he will need to distance it further

back on his property, because of this one who dug his pit adjacent to the border -
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For the rule is one must distance, when planting a tree, twenty five n128 from an
existing 12 —

mBDIN answers:
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And one can say; that nonetheless the 11277 532 is not damaging the 17°x:7 5y -
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For the reason the 17°x71 Yva distances himself more (from the boundary) is not in
order so that the 212 should not damage him, but rather because the 7°X77 Hva

! This is the view of the p"n in the 73wn on 2,75 A7.

* The 19°X71 7v2 is losing this extra space, since he could have planted his tree closer to his boundary, if not for the
T12. See R"womn that N1OOIN question seems to be that if the 71277 9¥2 would be P r three 21w, the 12°87 Hv2 would
only need to be p°nn twenty five 71X, so his roots will not penetrate the 11277 m3. However now that the 1127 2v2
was 10, he needs to move back an additional three ondv (besides the nR 7"2) on his own property. We can no
longer say that Y2 P> X1 2K, since he is >1» him three o°nov (of his property). See 2 MR 77 N0 and ™R3
v MR (PP212213p n"17) Ny, See ‘“Thinking it over’.

3 mooin is distinguishing between one causing (direct) damage to his neighbor, where there is an obligation to distance
oneself, and where one is causing that his neighbor needs to distance in order that the neighbor should not damage him
(as in the case of the 72°X1 M2); in which case there is no need for the one who will be damaged to distance himself.
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should not damage the =12 -
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So therefore the 11277 2 is not required to give up his right 71209 on account of
the requirement for the 72°71 2 to distance himself, for if this is not so, but the
7927 Yva has distance himself on account of the 17°X, he should be required to

distance his 192 from the boundary the entire twenty-five nR (if it is a mwyn 7w
nuPRY)!

Summary
The 2111 of distancing is only if one is directly P> his neighbor, but if he is

causing that the neighbor needs to take precautions not be 1 him, there is no
TR NPAA.

Thinking it over
1. Why does not n1901n ask the same question on X217 (that you cannot be 7110); but

nevertheless he is causing the 17°K77 9¥2 to be K 7" P’mn?6

2. Why does not mdo1n also ask the question on &271 ™K according to the opinion
that 7210 MM2% WY RY 7712 ¥, and also on *aX if he maintains 7110 even by a
MM ey aTw?’

* Mmoo proves that in this case the Ma7 9v2 is not required P> (even though he inconveniences the 19°X 7¥2),

for if he were required P°1772, he would need to be R 71" 21, and we do not find such a requirement anywhere.
> See wn Nona that Moo means that the 12°XA %21 27 ¥a would need to share equally that distance of R 71";
meaning that each one would need to distance himself twelve and a half N from the boundary.

% See mwn ol

7 See the 090 in footnote # 2.
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